-x
| 4

b
e .-x\

# 5?(110)@& B

%?F
—‘:z‘

SR - y
& ?K B %gﬁﬁifﬁ?
1. ﬁ“%ﬁﬁ;ﬁ'\mﬁ‘/ﬁk a‘\\l!f\lﬁ] °
2. RPN 2 e PEEY -
- ~KEFP R 3. ;b@ﬁ*iagﬁaﬁ;@%o
4. 5‘54['1]’% ;‘yr\(z_é} \.b"a.J- ;br\/zlpkq'\/’}ﬁ'”o
B, a4l - A RN R R
oF fkEoRE AN
1-1 3k = 3
1-2 5355\ 4o RiF g
1-3 e piE s
$-o% Topmiagn
2-1 T3\ iE
2-2 R\ guF g
2-3 <z
KEPMF FZF Fiagz
3'1 ‘flj’%;};}t;} '}‘I;\‘—"E\aa‘(/z‘% ’\‘ lpkr‘l’\‘/w\ﬁ'*
32 1% L3 2 gk TN A R
Yo g - L=t
4-1 FIFN A fRfE- Ao = AR
4-2 ﬁo—%fz:lfi? ) \‘ﬁ’;
4-3 Jp* B 3L
“‘_;_r—_g—_ éA»J.x,}l)&m
5-1 F LA IE g7 xezt ) 4
= e EYRAE HELiR - FET R KARS% BT 43R
r s A 1. %k‘:iﬁifﬂi“iﬁ;%ﬁi;:ﬁ;a‘; 1 50%
‘ 2. TR (A M S FE S T @] d) 1 50%
T ey [ FAESARRG LA RS
2. MATE A EY T A MR AE o
s RKERR
H & 3 | ST - 3 E RN E B - E%
x| ¢ R " 4 & L, B ” ,
pl BT k| fT ke | BT | ia e o] e
ﬁ /. o /. 27 W 2 IS
~ p i rE pMF SR # o=
1 |08/30 —09/05 [1-1 iz o3& P 37 1-1 0123 4§ ¢ @Y R
2 100/06 —00/12 12 %3N g1 H 4 R iE & pOb A
3 109/13 —09/19 [1-2 43N 22 H 40 jRiF 8 P 37 1-2
4 09/20 —09/26 [1-3 % I 5 chrs o B o -




5 (09/27 —10/03 [1-3 % 78 ;% ek “,% FE WA 1-3
6 |10/04 —10/10 [2-1 T > =il iE WA 2-1
“ A 10/11 B A& P it i
7 |10/11 —10/17 (O % - =& ¢ ¥ :1-1~2-1 10113+ 14 5 - = 49 ¢ % &
102021 % B30 5 — = foke 4
8 [10/18 —10/24 P2-2 35 g & 1022 4 - %
Oir 4 &
2-2 AN eiE g
9 |10/25 —10/31 O % 4 ¢ 1-1~2-1 i 37 2-2 10/28 ~ 29 2 A i
11/3 ~ 4
10 | 11/01 —11/07 [2-3 & < 3@ BYMZ &K - L
FP M=z EBE - ST
11 |11/08 —11/14 -3 & < =32 ¥ 4 2-3 Eev
3-1 I * & o Flt gz ot
12 |11/15 —11/21 W A 1R ¥ 37 3-1
13 [11/22 —11/28 [3-2 i * + F 2 3k iE T\ 4 7 Y 4 3-2
14 | 11/29 —12/05 | ©O% = =c# ¢ ¥ :2-2~3-2 11/29 - 30 § = =45 ¢ % 2
15 [12/06 —12/12 4-1 F)3\ & fEfE- ~ = =X 2 4250
12/14 « 15
16 [12/13 —12/19 W-1 T3 A f213— - = = 425 |3 47 4-1 30Nk nE 2 R
R s = 1
/ / 4-2 fe i 8 2R 1212324 {1 ¥ %= & 5% - %
17 |12/20 —12/26 - . =
OiFrk# & - 2-2~3-2 o £ 4
12/30 8578 T 2 FEF A B
18 |12/27 —01/02 W-2 fie= i &2 2 X iz 3 3L 4-2 - 5
12/31 3 - P
19 |01/03 -01/09 4-3 J&* 4R i 32 4-3 17 % -2
20 [01/10 -01/16 [5-1 F L FF ey bzt Bl 4 W32 5-1
117 & 5 8 Az &
21 |01/17 -01/23 (©O& # % & : 4-1~5-1 1/18 ~ 19 ~ 20 & # & 2

1/20 iR ¥ &£ 3

==

FHERG MECRERr (¢ 3

DA AT BRI ST S ERT

ARRT CRFERT CAERT AREFR A R F T
F4) 2 LR o

o FIT R L




£ 1 495 gk
1L ETaest:

(1) V7 x+11

) Bx2

2. 7 E T

(1) /3 x5 2)\2* x 3
(3) /852 (4)\18
(5)/68 (6)120

£ g

1, 2 E TN

(1) f V12
(2)
<>( (

N - .
ET AR

1. 23—3
2. 1206 —4.6 + B

€8 oo pis

1 577850

(1) 4 (5—2) + 45 +13

(2) (35 —+7) 7

3) (36 +7)?

(4) (442 +33) (442 —343)

2
(5)m

6
6)—— >
()\/— 72
(7)3+\/—

TT &

e



